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1. Identify the limiting reactant when 4.68 g of Fe react with 2.88 g of sulfur to produce iron (II) sulfide.                                 
2. Lithium hydroxide reacts with carbon dioxide to form lithium carbonate and water.  If a reaction vessel contains 0.150 mol LiOH and 0.080 mol CO2 , which compound is the limiting reactant?  How many moles of Li2CO3 can be produced by this limiting reactant?

3. Boron trifluoride reacts with water to produce boric acid (H3BO3)  and fluoroboric acid (HBF4).  If a reaction contains 0.496 mol BF3 and 0.313 mol H2O, which compound is the limiting reactant?  How many moles of HBF4 will be produced?
4. Identify the limiting reactant when 7.81 g of hydrochloric acid reacts with 5.24 g of sodium hydroxide.  Find the mass of each  product that forms.                 

5. If 4.1 g of chromium are heated with 9.3 g of Cl2, chromium (III) chloride will be produced.  Which reactant will be in excess? Find the mass of the remaining excess reactant after the reaction is complete.
6. If 21.4 g of Al reacts with 91.3 g of iron (III) oxide, what mass of iron will be produced?  Find the remaining excess reactant when the reaction is complete.

7. Given 2.0 mol of HCl and 2.5 mol of NaOH, which reactant is the limiting reactant for the following equation:           HCl  +     NaOH  (      NaCl   +      H2O

8. Magnesium nitride can be formed by the reaction of magnesium metal with nitrogen gas.  How many grams of magnesium nitride can be made through the reaction of 35.00 g of magnesium and 15.00 g of nitrogen?  Which reactant will be in excess and how many grams of excess will remain after the Reaction?

9. The reaction of iron(II) sulfide with hydrochloric acid will produce hydrogen sulfide gas and iron (II) chloride.  If 10.2 g of HCl is added to 13.2 g FeS, How many grams of H2S can be formed? What is the mass of the excess reactant remaining?           
10. Potassium iodide is used to treat goiter and is prepared by the reaction of hydroioidic acid and potassium hydrogen carbonate.  The products are water, carbon dioxide and potassium iodide.  If 481 g of hydroiodic acid and 318 g of potassium hydrogen carbonate react:

a. How many grams of potassium iodide are produced?

b. Which reactant is in excess?   
c. How many grams of excess will remain after the reaction?   
11. The reaction of liquid mercury and oxygen yields mercury (II)oxide.  Without doing detailed calculations, explain which of the following outcomes should result from the reaction of 0.200 mol of mercury and 4.00 g of oxygen?

a.  4.00 g HgO  and 0.200 mol Hg                    b.  0.100 mol HgO, 0.100 mol Hg and 2.40 g O2

c.  0.200 mol HgO and no O2                           d.  0.200 mol HgO and 0.80 g O2
